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WESES 62,810 2FH 13,818/ £H 3,336 2[F 712| £H 815| 2 EF 188/ £E 1,618 £H 1,178 &[F 8,050
1|§4E™ 72,322 #E 17,754 | 8% h 8,815 FR[E™H 1,459 fFTH 1,441 | Z&RTH 362| =& 2,294 K;Eh 1,775|F &= H 11,340
2| &WV=FETh 70,887 FHRE T 17484 EIRET 5,141 ;E#ATH 1,106 | ¥ &t 1,262| #FTH 356| AR 2,095 & 1,673 |Ril4E™H 10,539
3 fEET 70,843 FEm™ 17,095 ;E¥ATH 5,073 fRHE[R T 1,006| ELV=FEH 1,249 1| TH 336 |MiITh 2,030 IR&RTH 1,635 ELLH 10,333
4| FE=H 69,763 | BI¥ET 16,710| El&TH 5,040 & 965 | B IR AR X &B 1,246 SLV=F T 296|dk A 1,992 L AT 1,547 FEm 10,053
5 READX &B 69,350 & ETh 16,488 | fHHE R H 5025 Z=RBTH 952 |1l 1,224 FHIEE T 279| &LV =F T 1,879 2 E™ 1477 &SWNi=FH 9,925
6| FEMH 69,176 =L =F T 16,2458 ™ 4,936 EEIRE™ 950 L& 1,193|#Emh 274/ lLOtH 1,858 KPRt 1472 2B 9,533
G 69,147 fB#Z[RE 15,908 | &= & 4496 mERTH 940 fBHE R TH 1,189/ =Bt 265| &R 1,837\ ¥1:8tH 1,470/ KB th 0,483
8 B&HM 68,402\ K E 15,897 [#&;ETH 4,465 A EET 938| FET™ 1,161 | F0FRLH 265 AR &R 1,802 &LM=FETH 1,461 R FFTH 9,237
9| B[ H 67,345 B IRARX &R 15,808|dt AL TH 4,358 3R 931 | &R 1,104 K:ZmH 251 3Rt 1,768 ;E¥ATH 1,456 | # & 9,107
10|11 I 66,974 )1 1& T 15,765 FEH 4,238 ;&M 889 K& 1013/ fEE™T 243 A TH 1,763 &= &0t 1,440/ I B 1h 8,874
1MERET 66,423 ;E¥ATH 15,545 )1 & H 4106 FEh 882|/)KF T 973| FEm 242\ [LET™H 1,744;#™H 1,411 1% 8,793
12LEH 66,4222 & 15,135 | R &R X &f 4,020 ‘Z & 841 &ZRB™ 947 IR AR X &R 238| &R 1,743 #3ITH 1,366 BRI AR X &B 8,740
13)kEtH 66,139\ = LU 14,930 BEATH 3,935 REARTH 839|HItB™ 940 L ETH 236 =R 1,723 &8 ™™ 1,365 F#&H 8,686
14 45K 65,897 E&TH 14912|KEtHh 3870 & 832/iAm 889 i& 234 B EHET 1,716 | K%t 1,355 BT 8,499
15|&R™ 65,755 B fF 14,747 | #ETH 3,801 #&;ETh 815 ;E#ATH 887 FERTH 228\ #raTh 1,711 | El&™H 1,310 #FiBmh 8,498
16| FRERH 65,465 #ia 14,289 & TH 3,679 f2FH 807/ & HET 877 2 HE™ 227 @t 1,707 =R 1,268 FRERTH 8,359
17 B fFth 64,282 | BERETH 14,183 |gi#ETH 3,678 HFFTH 806 | & 868 EHRF™H 219| B8R 1,698 FH fFth 1,251|;&Hh 8,216
18| IlLfzTH 63,710 RI&™H 13,891 | R&RTH 3,643 L A th 804|f@ETh 855/ /KF™ 216| K;EM 1,681 |4 EH 1,249 ;E¥ATH 8,137
195%™ 63,188 B HET 13,842| K& thH 3,593 g Lth 790 X4 845 I B 206| EER 1,659 | #0Fx LI TH 1,245 | FH#EE T 8,108
20| fBHE R H 63,0178 13,830 & HETH 3,532 &Rt 785 F&E ™ 829 #FEth 201 | ¥R 1,654 Stth 1,244 &Rt 7,981
21 #hilmh 62,853 I BT 13,797 B¥th 3,470/ ELUTH 770 [E LT 819 {2 201 | KRR 1,645/ BEARTH 1,234 & #ath 7,789
22 |[@ Ut 62,716 IR & 13,791 | #FiBm™ 3,316 KETH 768 | Ik B 806 KPrth 197/ ElUH 1,643 I B TH 1,221 | BB EH 7,717
23 ;EMATH 62,170 {llET 13,624 R fFH 3,268 | ALIRTH 740 BT 805 ;E#ATH 196|)11&TH 1,642 fHFTH 1,216 = 5 mH 7,661
24| BT 61,896 KHoth 13,487 | &[T 3,226 Fiath 740 [ ET™ 91| F8 =T 194| FEH 1,642 3 luth 1,209| KBt 7,489
25| KBrh 61,669 ;EmH 13,398 | &[T 3,206 I Eth 737 #iam™h 765/ &R 188| K& th 1,638 [ LU H 1,191 lLfizvh 7,451
26 iRt 61,654 &Rt 13,259 |=LVi=F 3,192 KHoth 733 | &% 758 | KErm 182| XA 1,632|lUfEsTH 11711 Keth 7,412
27 &t 61,451 BEAT 12,921 {8 3,170/ &LV =Fh 721 #LiRTH 754 E U 182/4&&m™ 1,621 Il 1,165 EE 7,387
28\ fEET™ 61,163/ L Al h 12,917);ZH 3,157 JI|&TH 704 fEET™H 753 | LR 181|#0FrLUH 1,617 1LO7H 1,162 {l&™™H 7,360
29| [LET 61,114 REfh 12,809 =B 3141 FKATH 700 X 744 ERRTT 179|#8#E R 1,586/ {8 & 1,161|&%0th 7,316
30 AT 60,311 | FRERTH 12,556 | fFLEATH 2,998 RErh 697 ¥ I 683 | [l 177 &% 1,578 [ & 1,152 LW 7,143
31 |4L1gH 60,110/ LLUfizTH 12,408| #L 1 tH 2,996 | Kprth 683| & tATH 681|fAET 176|f2 & 1,576 |BiItaTH 1,151|8%[E™Hh 7,030
32| KiEMH 59,765 | t2[E 12,328| Uz TH 2,923 KFETH 677 FETH 657 | % 1747k 1,571 R &R X &R 1,090| & LUt 6,900
33| &A™ 59,747 & & 12,2533 2913 HERERX &R 676 KErh 656 | 2% [ h 171 BEARTH 1,554 &Rt 1,068 R I& 6,823
34 B IETH 59,704 S¥ATH 12,247|&;RH 2,892 | BT 675| RI&T™H 652| K5 171 58mH 1,553 HHERE T 1,059 fE B 6,803
35 AR 59,300 3R H 12,244\ K;ETH 2875 P 672| &R 643 f2FH 169| BB 1,552 | B[ 1,040 BEKTH 6,795
6 BEHET 59,270 KPR th 12,142\ ¥ H 2,821 f&[E™H 671 |REXRTH 636 | BIfE™ 163|FH#=™H 1,514 5% [T 1,014{E&8H 6,729
37i&m™ 59,137 | #LI% 12,107 IR B TH 2,607 ¥\ Ih 665 = LU 627/ lLOT™ 159| I & 1,510/ fEE™ 995/ LA 6,696
B ER™ 58,946 FAHT 11,926|t8FH 2,375 LAt 665 ARERTH 627 RI&TH 158 EIR BT 1,493 kKBt 991 |3Rth 6,674
39 R¥Fh 58,912| K& 11,822|E1UtH 2,327 Hitg™ 662 ILOH 622 #ATh 156 | LUz 1,483 FHEH 984 EEIRE™ 6,654
AO{EEH 58,851 FRERTH 11,525 f8FH 2,306 IiETH 646 | B[ 621 S 154 ;E#¥TH 1,448 &[T 966 | F AT 6,639
41 luAH 58,825 =R 11,512| KBt 2,264 ¥ UTH 630/t AL 613;Eh 154/;&mHh 1,443 FEH 954 | f&[E 6,555
42 |{&@ T 58,771 #HFTH 11,339 | #0Fk L TH 2,237 S 622 ;EmH 580 f@ETh 150 BB fFma 1,437 B ELH 953 | L&t 6,482
43 Ri&tH 58,752 | & &Nth 11,229/ E&H 2233\ FHET 601 | F0FR LT 577{&EhH 149\ fEE™ 1,420 f#kETH 951 | f@Fh 6,448
44 |/dc i h 58,313 A & 11,210 &#tH 2224 8B 599| & f0Th 555|[L BT 143{lEH 1,392 ElUTH 949 | KZEMH 6,254
45 BEARTH 57,651 ILAT 11,195 ¥ALUTH 2,083 lLFzTH 546 LUz TH 551|dk il 143/48H™H 1,389 EI&tH 928 FIFx LT 6,037
46 | F0FR LT 56,983 | [# LLUTH 11,081 lLAaH 2,020 fEETH 509 £ & 544 |'& & 137| BT 1,377 E¥mh 893k A 5,955
47| fHET™H 56,500 {2 10,671 | &5 &HH 1,980\ L& 500 EIRET™ 503 | LUz Th 136 R¥mh 1,297 | #L 1R H 886 | # P T 5,830
48| Kpth 56,083| L& 10,639| & %0TH 1,780| & LU tH 499 MU 496 HEARTH 135 ABEATh 1,259 EIRE™™H 875 | &R 5714
49 | ¥3iITh 54,901 #ITH 10,621 | LU H 1,655 S 475 BELH 473 & %0TH 123| #L 1R H 1,214 & 859 =R 5,701
50/48F™H 54,397 #1Fr L H 10469 |5 B&T 1,622 H&F%™H 467| B BT 462 E\RET™H 111 &F&FT 1,203 |f@FH 824 ¥AiTvh 5,087
51 #Uth 53,354 EER™ 8,484 EHRH 1,528 &5t 368|f@FH 459 ¥ Lth 109 | #2LLT 1,152 F&F ™ 7119 B 4824
52 EEnh 52,067 ¥ LU 8,315 AR E;T™H 1,279 3 Z/th 340 F&H&T 385 F&M o1 | BRI 1,151 ARER™H 665 ¥ LU 4,585
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0 2H 12,884 | 2 [F 7,454| & F 2,708| &= 5,044 £ [F 385 2= 36,108 &= 7274 £ [F 7,295 £ [F 5,154
1| KZEMH 15,501 | K& 9,846 | FR&RTH 3,774 Elluth 6,521 FRERTH 551| F# & 42560 & 10,071 | LUz th 10,108 EElR & 9,950
2|2l 14,673 &R TH 9,273 K;ET™ 3,591 ARERTH 6,335 | fAHR[R 484 HIFETH 42311 |B%E™ 9,593 | B ™ 10,058 | Ril$3 8,350
3| fLiRTH 14,416 R & X &B 8,782 HHIEE ™ 3,416 I B 6,214\ &R 482 EIRET™ 42,302 | #ETH 9,248 HEFHFH 9,833| &R 7,930
4\ RERTH 14416 &R 8,627 [LE&TH 3,360 H&HH 5,984 =I5 470 2™ 41,906 F LU 9,089 & 9,083 | B 6,619
5 REARX &R 14,210 #LWRH 8,551 | &R 3,309 &#ATH 5927 | #ET 467| LV =FTH 41,068/t 5™ 8,633 #LiRH 9,001 FFH™ 6,453
6|&Rm 14,155 #8412 R h 8,424 | t&[EH 3,248 SHATH 5885 =R 462 FRERTH 40,569 | =LV =FTH 8,455 | L V=F T 8,991 #FhBth 6,280
7LbET™H 14,036 =B 8,409 | #3;Th 3213/L& 5822| ZHE™ 435 | BE[ETH 39,948 HitE™ 8,400 FH# = 8,606 JKETH 5,982
8| [ Lth 13,979 ¥ TTH 8,212| &Lvi=Fh 3117 {88 5712| ELUH 434 ELUH 39543 EIRET™ 8,109 [ &Th 8,286 {2 &Th 5,947
9|l B 13,952 {E & 8,188 =R H 3,055 [ LTH 5,710 & ¥AtH 433 FEETH 39,422 Lz TH 8,094 f2ETh 8,043 K 5915
10|[LE&™™ 13,819 & tH 8,104 ZTHE™ 3,048 t&2HhH 5612/ =L\i-FHh 429 | BRI # X &R 39,333 [L&TH 8,039 Friath 8,035 =RBth 5,899
11881 13,802 KEFh 8,103 | AL1%H 3044 [LETH 5544 K& 424 FEH 39,013|JI[I&TH 7,886 {E& 8,020 FoFr LT 5,862
12| R¥mh 13,702 #riBH 8,094 ILOtH 3,022 1R 5,532 /KETH 424 \WEH 38,762 | R H 7,841 B RABX AR 7,826|t2H 5813
13 =mh 13,699 FATH 8,072\ 2,969 FnFrLth 5,523 ¥ I 422 | ILUfzTh 38,732 |HH#E[R T 7,792 E1UTH 7,824| =& 5,764
14 HHERET 13,646/ ILOTH 8,024 [ LUTH 2,941 B 5,508 | B [E T 415 &R 38,341 ER™ 7,787 |1 ETH 7,807 FE =™ 5,648
15/ IL@h 13,631 LE™ 7917 EWH 2,920/ LV -F T 5,500| $7:8 410 )15 TH 38,007 FEH 7,759 FEmH 7,803 ;EmH 5,637
16 B&HF™ 13,588 [ LU TH 7,867 | &[T 2,920 ALiETH 5,468 ;& 407 [ LT 37,656 & 0TH 7,691 | FBE™ 7,709 2 HE™ 5,615
17|V =FH 13,574 L& 7,813 #FiEah 2,918 HiItE™H 5448 & & 406 R FFTH 37,546 | #EETH 7,677 KPR 7,618 BIRARX &R 5,442
18/3Rth 13,526 | tE2[E™TH 7,728 FEH 2,906 £Fh 5273liE™™H 402 ¥R 37,284 El&tH 7,663 Stath 7597 & 5,432
19 AREE™TH 13,372/ b L Th 7,724 AL A Th 2,902 J1|I5TH 5,254 |[#LUTH 401 KPETH 37,279| Ik B 7,644\ )I1&TH 7589 fAF ™ 5,431

20 fEET 13,340\ ELLUTH 7,718 |#&ETH 2812 KEHh 5231/ lLAT™ 401 KBRth 37,014 |t 7,634 lLOT 7,562 REARTH 5,335

21| F0FruH 13,331 486 7,701 R AR X &R 2,798 1lLOTH 5,207 | #LIR 397|[EETH 36,656 | R R ARX B 7,604 fEET™ 7,407/ &LM=FEH 5,319

22 |giET™ 13,300| Lz TH 7,673 HitET™ 2,731 |FH = 5,166 | F0Fx LU 395 fEE™ 36,613 BBfFTH 7,502 B 7,310 B fFm 5,135

23|18 13,254 J)KEH 7667 EET 2,687 KFrh 5,154 BEnH 393| = 40h 35,993 FH = 7,457 |t2@™H 7,255 4L FuiMl 5,129

24 | BE[E™H 13,213|3Rth 7,646 fHFT™H 2,681 R FAXEB 5078/f2a &t 390|Fx AT 35,914 LUt 7,371|£R 7,240 K& 5,121

25|J1i&TH 13,202 ELV=FTH 7,644 ELUTH 2,666 FEH 5,070 &% 386 3R 35,883\ &R 7,342 #8iTTh 7,159 =E U 5,099

26 =R™ 13,167 FEtH 7,617\ 78 EAT™H 2,663 &R 5,047 | IUfzTH 385 &iamh 35,505 &R TH 7,304 #ATH 7,141 [ 5,068

27| EWH 13,134 1|5 H 7,608 KPRt 2,637 A EET 5011|F&EmH 385 | Frimth 35,310 &t 7,295 BT 7,135\ ¥A LT 5,031

28| FEH 13,069 | BiItETH 7,496 | I B 2,637 Kot 4942 | FEtH 381 ;EMATH 35,296 | K& 7,233\ kPt 7,064 FEH 4847

29Kt 12,964 #ALtH 7,488 )11 tH 2,621 )KETH 4,874 ;E¥ATH 380 &% 34,7475 ET™H 7,188 &40 7,063 #ET 4842

30 #iITh 12,892 |#&;Eth 7,464 LRz TH 2,596 A ET™H 4,864\ Kot 378 El&™H 34,547 ;E¥TH 7,170 3R 7,021 | %R 4,840

31|FHEH 12,856 | #0FxLTH 1413 Ko 2,595 B FFth 4,784 Z5&0H 3718/ ZRBTH 34,267 |88 ™ 7,147 RiltE™ 6,969 IR 4,825

2BHET 12,718 I B h 7,386 | #¥ALLTH 2,589 HARTH 4,781 |f2E 375 | IR ETH 34,147 7,138 [ Um 6,954 AREATH 4811

33 &R 12,619 &5#AtH 7,338 K 2,588 ;EHh 4,780 | IR AR 362/ lLAT™H 33,999/ 1lLAT 7,084 FEART 6,906 = &0 4,789

34\ fEHTH 12,574|F&ETH 7,306 & 2577 #Fiath 4,750\ L& 358 RI&T™H 33,900 AL1ETH 7,058| K4 6,827 & 4,645

35/ lUfzTh 12,569 A& B 7273 &EHFT 2,570 HHIERT 4,738 RilkB™H 3581 EH 33,883 KPR 7,058 fH#E[R T 6,819/ )11 4,596

36 = ENTH 12,524 EEth 7,234|:%th 2,554 | B[ TH 4695 EEIRET™ 356 | f&fif] 33,824 6,955 P 6,744 ;E¥ATH 4,534

37 KBt 12514 FEFHH 7,198k EtH 2537 &8 H 4,603 B FFTH 352|;&MH 33,738 | #0Fx LT 6,880 E I H 6,681/ Lz h 4,532

38 FkETH 12472 @ EH 7176 RI&TH 2,520 f&REH 4,516/l B 352 AT 33,639 B HET 6,669 RARTH 6,559 &K 4382

39/dL A 12,366| KBt 7,037 |#ETTH 2,467 WURsTH 4511 | R A X &R 350 ALIE 33587 #F ™ 6,659 K;ETh 6,454 | B [E 4,348

40| Ko th 12277\ K5 6,957 {2 &t 2,433 REARTH 45103 348 HHIEETH 33,463 F;m™H 6,654 RI&T™H 6,442 R¥F 4275

41 |}ETH 12,126 B fFth 6,853 S aTh 2,424 ;E¥ATH 4,418|)11&tH 341 EEARTH 33,427 ¥ UtH 6,635 EERET™ 6,411 fEET™ 4,156

42 12,002|;2H 6,815 F01Fx L 2,423 =& tH 4334/t il 338 FnFrLh 33,183/ BEATH 6,592 #3UTH 6,358 L BT 4,149

43| B fF™H 11,990 $&FHTH 6,664 REARTH 2,398 AL A Th 4304 E¥h 327 #aluth 33,106 E R 6,550 REFTH 6,300 E ER 4112

44 ¥A LT 11,932 RIGTH 6,622 FE =T 2,365 R 4,296 FKEHTH 324 db i th 33,030/ dk A 6,520 AL fuim Th 6,281 &R 3,919

45| fHET™TH 11,522 REARTH 6,537 ;EHATH 2,345 ¥AITH 4,259 KR 324 BHET 32,710/kF 6,445 ;E¥ATH 6,177| KiEMH 3,819

46 |;EHATH 11,328 ;E#¥ATH 6,530 EEIRETH 2,282 #ETh 4195 RIGTH 324 KiETH 32,443\ f8HTH 6,363 =R TH 6,129 ST 3,814

47|8eRTH 11,303 FRE/th 6,485 S f0TH 2,278 &R 4,134 ¥ UTH 323 R¥h 32,401 4£ 8™ 6,336 | E%[E™H 6,115 LA™ 3,753

48{EEB™ 11,138 EIRET 6,270 B fFTH 2,269 #AUTH 412248 299 | FRE&RTH 32,328 Fimth 6,308 {23 5,937 It 3,670

49 R 10,961 = %0tH 6,261 = 5 H 2,261 FETH 4,076/ f&8FH 298 AT Th 31,388 E & 6,136 I B h 5,846 fHH&E[R 3,497

50 BFRETH 10,687 {E&H 6,236 £ & ™ 2,175 T 4050 T 296 | f@FTh 31,152\ ¥ T 6,121 B HET 5,836 LR 3,483

51 ERE™ 10,330 | %[ ™H 6,167 | B¥[E™H 2,121 Ri&TH 4016/ fEET™ 288 E R 30,449 Ky th 6,056 ;Em 5,774|t2E ™ 3,067

52| = & TH 10,244 | = & TH 5440/ t8HFH 1,940 EIRET 3,703 fEARTH 256 K& 30,320 EF 5,856 | FNFR LT 5510 K9 2,260
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WESES 2,628 2 [E 3,990 2F 1,522 £ E 8,245
1™ 3,964 AETH 7,061 |lLUfizTh 2,257 | ARERTH 10,438
21fEE™ 3,635 KETH 5172|fEETH 2,116 HFFTH 9,692
3| K 3520 EEIRET™ 51702 &t 2,093 ELUH 9,562
A LB™ 3,425 B ARX &R 5,108| FE&R =™ 2,042 FEH 9,490
588 3371 2™ 5057 FEH 1,929 F & ETTH 9,359
6 = %0TH 3,268 =L V\=FE T 4,974 ElLUH 1,902 | BiitE™H 9,350
71lLBa™H 3,260 #&ETH 4,923 [ LUTH 1,886 IR AR X &R 9,228
81 3,200 HitBT™H 4861 F&H™ 1,850 F&% 9,197
9 BFFTh 3,009 S#th 4590 £;Rh 1,847 EWV=FTH 9,072
10 #8T v 3,007 FoFxrLh 4,588 HItE™ 1,833/ [ ILUTH 9,005
11 E¥MH 2,988/ JI|I5TH 4,573 FKETH 1,820/ J1| i 8,987
12| ElumHh 2,944 FEH 4,522 1LO7H 1,806 IR B 8,882
13 BRI AR X AR 2,862 &M 4,412 | BRFTH 1,690 R¥Fmh 8,843
14| &1 2,862 ;E¥TH 4247 LB 1,690/ f2&H 8,762
15|11 I 2,849 f2[ET™H 4117 bEH 1,690l & 8,715
168 ™ 2833 Kpth 4116 EIRET 1,667 ;Etath 8,687
17|5#%H 2,804 lhETH 4102 | B 7h 1,649 f2REH 8,687
18| ELVi=FTH 2,795 Kfxh 4,094 Frimt 1,628/ 7)KFTH 8,670
19| #F™hH 2,740 fEETH 4,042 | RE[E ™ 1,625| %[ mTh 8,658
20 E & 2,711 =& 4,037 &¥TH 1,609 | ¥ Emh 8,577
21 | BRE;@™ 2,701 | [ & 4,003 S %0TH 1,605/ £ ;R 8,576
22| FHEH 2,700 3R 3,833 KT 1,601| 1Lz 8,568
23| FEH 2,661 fR#Z[E T 3,809 | #ALLTH 1,584 | B[t 8,516
24| &iR™ 2648 ZHHE™ 3,794 B & 1,576 ;& 8,451
25| &[T 2,641 K#EMHH 3,740|)1|&H 1,528 & %0th 8,449
26 fEIEET 2,609 #ATTH 3,715 f gLt 1,500/ & 8,069
27{LEH 2,604 RERTH 3,696 ;E¥ATH 1,492t AL v 7,946
28|1&E™ 2,563/ b T 3,666 =R 1,465 ¥ ILH 7,909
29 HitE™ 2549 FHETH 3,610/ &LV=FH 1,460 El&TH 7,883
30 #hi;mmh 2,538 Rl&™H 3,561 | KR 1,453 XHth 7,873
31 Em 2,495 #ETH 3,430 | E%[EH 1,409 ¥R 7,817
32 BSTH 2,470 LU 3,408 EHRH 1,390| # A th 7,816
33;F&mM 2,468 RErth 3,380 REATH 1,389 | BEARTH 7,761
34 FFrumh 2423/ ¥xuth 3,354 1,386 = #ATH 7,737
35 REFH 2372/ 1lLAtH 3,333 R¥FTH 1,376 Ki#EtH 7,705
36| ER™ 2,360 Friamh 3,307 |8 HFhH 1,365 fHIER T 7,697
37/dt A Th 2,353 Ik B th 3,285;Fm 1,354 & ™™ 7,673
38 I B 2345 R 3,254 |#;ETh 1,354 #ETH 7,583
39 kKF T 2,344 B FFTH 3,208/ 3R 1,348| =Bt 7,374
40 | R &RTH 2,333 T 3184 B HET 1,296 | KR th 7,356
41 | fLiRh 2,313 | BE[EH 3,166 | AL1EH 1,291 | #LMgEH 7,302
42 KiEH 2,292 EEARTH 3,164 R AR X &R 1,263 FH&RTH 7,271
43 BHET 2,289 ALiRTH 3,139| m&RTH 1,246 | #:8mH 7,215
44| BERTH 2,280 S %0tH 3,128 tA¥&E R 1,238 B ETH 7,211
45 ¥ Uth 2,235 EUTH 3,123 RIG™H 1,223/l 7,199
46 | B2 ™ 2,166;Em™ 3,100 K&th 1,222| R ™TH 7,179
47| Uz 2,164\ Uz H 3,011 KEMH 1199 [LETH 7,064
48 R ET 2113{4&EE™ 2,991 AR EH 1,195|%8FH 6,915
49| f@H™H 2,082 &R 2,758 ¥\ ITH 1,164 BBt 6,765
50 fERE 2077 f8FH 2,678t i 1,135 I B Th 6,758
51 Ko 1,965 F&H 2,353 T 1,065 #3:I 6,551
52 Fk AT 1,850| B H 2,002 | t&[E 987 F0FRILUT 6,421
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